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Sidleyennaen : (1)  aendy chlanboanio oflwne Lflens) earempn eremugenan oflumgg s
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2 ) f
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(2) Bevw day  s@mUY  @wollomm  wCHGL  TpgIeusHE b,
91 14.Go Mg HeupH@Dh LB bs GasarmHib, ULrfsem auem e sns
Cligordlah Liuwsaont (B bme b,

Instructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately,

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

L@ - 1/ PART - 1

GO : (1) Siemengg alannbmanbwib ofleniwaflbsab, 15x1=15
(i)  QanGbsiiGarer wrpg el sofld Blaaybd ahumiw eflamimub
Capfib@p it @Pudl (e eblenSenamipbp Cofbgy arpmayid.
Note : (i) Answer all the questions,

(i) Choose the most appropriate answer from the given four alternatives
and write the option code and the Corresponding answer.
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L e goyses @l 09NGL Qmbs SigmisdpiLb.
(@4) Secured o UL &6 (<2b) Public o (i sar
(&) Private o guiyser () Protected o mliger
___ members are accessible from outside the class.

_(p) = Public members
(d) Protected members

(@) Secured members
(c) Private members

2. Geameumauaraupded 68l @LIGSITE ApliLe ©lgmey flen_wing ?

(<) continue (<3,) break (&) operator (/) while
Which of the following is not a keyword in Python ?
(a) continue (b) break ﬁ operator (d) while

3. @n eIUIL Qsumes QeleausH&TE LweamUBsslu(b @Ghlepeanuder &blu

UGS :

(<=1) Pseudo @Mlpenm (<) Slewent Flycvaser

(@) Qgr@slaar () Camiyser

The small sections of code that are used to perform a particular task is called :
(a) Pseudo code ﬁ Subroutines

(c) Modules (d) Files

4. ougsraie (psslumen SLOUUT () SiemwliLisenan oraramil&ens -

(=1) 5 (2)3 (&) 6 () 4
The number of important control structures in Python :
(a) 5 () 3 (c) 6 d 4
5. Qans@(p emuLser Qewn@Hlulen epaid SiamalILHEDS.
(1) # () & (&) % ()
Class members are accessed through operator.
(a) # (b) & (c) % Ay
6. QuHCHTT Ghms 2-pajflowmus @O sreisse wrdfl :
(o) LSl () e-peyfloa
() @um(BerT () cuanaWaLoLL)
The database Model which represents the Parent-Child relationship :
/Lerf Hierarchical (b) Relational
(c) Object (d) Network
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FIEBISEET @) 6nawTdhs CTh% (&mu;j)@ﬂj] LwetUB S g ?

(<) * (<) + (@) = () &

The operator which is used for concatenation ?

(@) * o + (c) = (d) &
DUSSTEN Hlyefled C+ Blrenev Hmedlsgen GTe BIenLp&ESLILIHE S
(=) Quangge () e-0p @G5

(&) Afigse (m) udedpssd Geigd

Importing C++ program in a Python program is called

(a) Interconnecting /Udr Wrapping

(c) Parsing (d) Downloading

SLLeeT 5re gassladl(hhal @ AL aumamew Fési LweTU(RE .

(<) DELETE ALL (<24,) DROP TABLE
(@) ALTER TABLE () DELETE
command is used to remove a table from the database.
(a) DELETE ALL /() DROP TABLE
(c) ALTER TABLE (d) DELETE

ahg ewpam Carbsdésinl L Lasdear Quilu wéllimus Smi sieiib :

(=4) HIGH () (<) MAX () (@) MAXIMUM() () LARGE()
The function that returns the largest value of the selected column is :

(a) HIGH () (b MAX () (c) MAXIMUM() (d) LARGE()
2 (Heuanolil MWL L §T6 euans AT SPEHSHLILIHE DS,
(=) Concrete datatype (<24) Built-in datatype

(@) Abstract datatype () Derived datatype

The datatype whose representation is known are called :

( Concrete datatype (b) Built-in datatype

(c) Abstract datatype (d) Derived datatype

[ Hpuys / Turn over
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12. §96h6m6ﬂggyrr(36m <9160 L0 &) 80 HTET (@5 LD @ &wiDanm)
(=) @mbL (<p) 2-amatlanemt b
(@) return Fo. M) (rr) SDELPDHS
A Function which calls itself, is called as :
(a) Lambda (b) Built-in
(¢) Return statement /(,d'}' Recursion

13.

14.

15.

2 HaulUL b ey Quiighoe Gariy Guream 2] SRS Camliysemer
ESWITET LWeTL(HID (pen :

(=21) xls (=) 20 (@) osv (7) @@plae
The mode which is used when dealing with non-text files like image or exe files :

(a) xIs mode (b) Text mode (c) csv mode ).d’]/ Binary mode

Quiig Hrarsssde, gnsaGe sanad®h Gsug wHlysmer CsllEEL WsSH
GTET AEMLP&HSLILI(HILD.

(1) Hlenamall(mSsev (<) e CHOEE@GHD LT
(@) uLbiLe () wéllewu CeaflE@b L

In dynamic programming, the technique of storing the previously calculated values
is called :

)é) Memoization (b) Saving value property
(c) Mapping (d) Storing value property

set A={3, 6, 9}, set B={1, 3, 9} arafle,
Qemeumd Hlyallem Geueflui® Print (set A|set B) :
(=1) 11} (<) {3,6,9, 1,3, 9

(@) {1,3,6,9 (/) 3,9

Let set A={3, 6, 9}, set B={1, 3, 9},

The result of the following snippet Print (set A|set B)
(@) {1 b) 3,6,9 1,39

y {1, 3, 6,9 d 3,9
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U@&$) - I / PART - II

GSPlLy : senaCugid D SamésEnse el walésa. cilain erawr 24 -gg
sLLmuwons el waldsab. 6x2=12

Note : Answer any six questions Question No. 24 is compulsory.
16. Tuple qrapred &R ? THSHESTL(H H(1HE.

What is a Tuple ? Give an example. .-

17. QU aTamir srarar ?

What 1s a scope ? 7

18. aussraile srses e béGeumu ?

How will you delete a string in Python ?

19. range() Qewpsamn GOILY auais.
Write note on range () in loop. ~

20. QEEG(D TAITE GTETE ?
What is class ?

21. srey eswWnEhse Gl ereamre eerar ?
What is Data Manipulation Language ?

22. Gamulber Qsmmflene weapawsmars GHILEHS.
Mention the default modes of the File.

23. srey ML ALLESSSD auamsmull UL iguel(s.
List the general types of data visualization. —

24. Qaraumb oussrar GHepentear Qeuafuil wrg ?
Squares=[x**2 for x in range(1,11)]
print (squares)
What will be output of the following Python code ? #5
Squares =[x**2 for x in range(1,11)]

PRt (squarcs) [ Slpuys / Turn over
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Solay TGS gy 6 eormases @@ 6flenl- ofdseld. eflarm craam 33 -6 SL_LmwuLD

ollen L wief & Q|LD. 6x3=18

Note : ' Answer any six questions. Question No. 33 is compulsory.

. ’ . \ . ' C :
25. Qe pagden Liawrs o [ HEN 6T CNEICED

-

Mention the characteristics of Interface.

26. Qunig Rrersssamst LpH Bedlit ibleuer wireneu ?
What do you understand by Dynamic Programming ?

27. bw Qsup@howu TOESEHT (6T THSIE.

Explain Ternary operator with an example. —

28. while wL &dlar QU eugeuSH@ET 6T(HSIS.

Write the syntax of while loop.

29. ceil() wHmid floor () Qewrm smmsamer Caumubés)s.
Differentiate - ceil () and floor () function. =

30. csv reader () bHmb Dict Reader () aflpepsErssE @l Cuwrea Caumur®
wg) ?
What is the difference between csv reader () method and DictReader () class ?

31. fetchone () wdHmD fetchmany () Caumu@ssis.
Differentiate fetchone () and fetchmany ().

32. WsmH&sLLLL augeusms EH@ID UGS HlTenad 6T(pgis.
Write a Python program to display the given pattern.
COMPUTER
COMPUTE
COMPUT
COMPU 3
COMP /

COM
CoO
(&
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33. urwey sCRuurl® spnsamer Glameare. C+ rr[,hja'm}]mmr @) s @D ) 85 8 T 6T
Hrosatien Lgflenaamar eTpgs.

Write about the steps of Python program executing C++ program using control

statement.
u@é}-W/PART‘N
GOUY : OGS elanis@EniEnd oo weflése . ~AD=28
Note : Answer All the questions.

34. (=) List qrepred erevien ? List, ¢retm pairs ereny Demp&&lILGE DS ? 67() 555
sT(HLen eleufssey.
3|60608)
(=) auflenepern CoLe panperwt efleunglésa,id.

(a) What is a List ? Why List, can be called as pairs ? Explain with suitable
example.

OR
(b) Discuss about linear search algorithm.

35. (=) ewugsnafle) 2 erem eflcvencvseT LIHM eT(LPFIS. -

{60608
(=) Gemeumid 2 araflenamhg QFwn smEamer adlens@s.
() id()
(i1)) chr()
(iii) round()
(iv) type()
(v)  pow()
(a) Discuss in details about Token in Python. il
OR
(b) Explain the following built-in function.
(i) 1id()
(i1) chr()

(i11) round()
(iv) type()
(v)  pow()
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36. | N . 4 ‘ > ] F
(<) a‘ﬂm.;smm“--, Tuple erénpred eresten ot (NI (Wi 6ar c.\‘llmm.m,n.

(0'6\)6\\5]
%\ 7 (] :
') Lpay Peovaular aimasamer ailautl&SYLD,
(@)  What is Nested Tuple ? Explain with an example, .-
OR

(b)  Explain the different types of relationship mapping,

37. ) getopt() ererm Qewpaaden Qg fluene TS, e Gl waImLsamenb
Snulugiiyn wHuysmeryn edlaméEs.
3|60605
(<) DBMS wppib RDBMS Gaumu(h551s.
(@) Write the syntax for getopt() and explain its arguments and return values.
OR
(b) Differentiate DBMS and RDBMS. —
38.

(=1) aflevCLrdlymb LHDID LL6L UL BISEHEE Qe Guiimer Gaumuir®-
a@ar ellatsEs.

3|6V60 G
(<) continue spilerar aTSHEST_ DL eflemi@s.
(a)  Explain about differences between Histogram and Bar Graph.

OR
(b) Explain ‘continue’ statement with an example.
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